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Mathematical model of a production line checkpoint

Vaclav Slimacek

1 Problem description

Almost everybody has already had the experience of purchasing a product which was defective
in some way or does not function the way it was designed to. The challenge for producers is
the eliminations of possible defects of final products. One of possible and very common ways
to achieve this goal is to add checkpoints to the production process.

The main purpose of this report is to create a model of a production line checkpoint.
The checkpoint is a place on a production line where the quality and functionality of products
from the production line are tested. In all production processes, it is necessary to monitor
whether the products meets the specifications and desired quality. Several statistical methods
were developed and are used in real production lines for testing quality of products. These
methods are usually based on the inspecting a random sample of the output from a process
and deciding whether the process is producing products with characteristics that fall within
a predetermined range. The checkpoint modeled in this paper is the checkpoint of the pro-
duction line producing valves which are used for medical purposes. Since human lives depend
on the functionality of these valves, it is not possible to test only random samples of valves
but functionality of every produced valve must be tested.

Each produced valve must pass the testing procedure which consist of reading the unique
product code, attaching the valve to the testing apparatus, setting the valve’s pressure con-
troller and safeguards to proper positions and the testing. The testing itself consists of the test-
ing of airtightness, functionality of safeguards and proper pressure control. If the valve pass
the test, it is send to the further processing. If the valve is defective, the code of defect is
stored and the valve is repaired right at the checkpoint. The most common defect is caused
by the defective gasket but sometimes also more complicated defects occur. After the repair,
the valve is tested again and if it does not pass the test, it is again repaired. Therefore, a valve
can be repaired several times till it is fully functional.

The large number of successive repairs causes large consumption of time for processing
of one valve and the income from such a valve decreases. Since the checkpoint is a part of
the production line and the performance of particular posts influence the overall performance
of a production line, it is important to find the optimal number of successive repairs after
which the valve is scrapped as a reject and which will not cause the blocking of a production
line. Each repair costs except some time also some money as well as a scrapped valve means
loss of money, therefore, it is important to optimize the number of possible successive repairs
also with respect to the overall profit.

The flowchart representing the processing of a valve at the production line checkpoint can
be seen in the figure 1. The processed valve can be seen in the figure 2 and the real production
line checkpoint can be seen in the figure 3.
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Figure 1: The flowchart representing the processing of a valve at the production line checkpoint

2 Modeling of the production line checkpoint

The processing of a valve at the production line checkpoint was described at the beginning of
this paper and it is represented by the flowchart on the figure 1. If the valve passes the first
test, it will be send to the further processing, which can consist for example from an additional
assembling or packing. Important and interesting situation is the case of the defective valve,
i.e., the valve which did not pass the functionality test and, therefore, it must be repaired.
Each repair takes some time and the valve can be repaired several times in a row. Since
the production line must not be blocked, the defective valve must be discarded after a certain
number of repairs as the reject. Each repair also costs some money and the discarded valve
means a loss of money, therefore, the important question is to find the optimal number of
possible successive repairs.

The problem of finding the optimal number of possible successive repairs can be formu-
lated as so called optimal stopping problem ([12]). In an optimal stopping problem, which is
the special case of the Markov decision processes (|12], [4]), the system evolves as an uncon-
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Figure 3: The real production line checkpoint.



trolled Markov chain. At each decision epoch, the decision maker has two possible actions
available in each state, to stop or to continue, and he receives a reward or pay a cost (which
depends on the state and the chosen action). When stopped, it remains in stopped state with
zero reward. The objective is to choose a policy to maximize the expected (total) reward.

First of all, the problem of finding the optimal number of possible successive repairs without
considering the role of the time will be discussed.

Let us consider the valve which did not pass the first functionality test. Each valve
is independent of the others and the number of possible successive repairs is limited, since
the checkpoint is the part of the whole production line. This defines the maximal number of
successive repairs, which will be denoted as K. If the valve is still defective after K repairs, it
must be discarded as the reject. Therefore, the processing of a defective valve lasts maximally
K + 1 periods.

If the valve is defective at a certain decision period, the decision maker must decide between
the repair and the discarding of this valve. The overwhelming majority of defects is caused
by the defective gasket and, therefore, most repairs consist from the replacing the defective
gasket. The quality and functionality of the new gasket is not influenced by the previous
repairs, therefore, it can be assumed that each repair is successful with probability p € (0, 1]
(the new gasket is functional and the valve will pass the functionality test) and the repair fails
with the probability 1 — p (and the valve will not pass the functionality test).

Each repair cost some amount of money (for the new gasket and the work related to its
replacement), which will be denoted as ¢. The value received for the functional valve is denoted
as C. This value will be lost if the valve is discarded. It is supposed that 0 < ¢ < C.

These assumptions lead to the definitions of possible states of the valve and actions in
these states. The valve can be either defective and the decision maker has to decide between
the repair or the discarding of this valve or the valve is already repaired or discarded and
the optimization process is over.

The important part of the optimization is the choice of the decision criterion. The decision
criterion should be the appropriate representation of the real process of obtaining rewards and
it should also represent the decision maker’s preferences. From the definition of the prob-
lem, it follows that the expected total reward criterion represents the best the real reward
process ([12]).

The optimization model introduced above, which is also represented on the figure 4 can
be summarized and formally described by:

e Decision periods (K > 0):
T=1{1,2,....K,K +1}.

e States:
S = {Defective valve, Processed valve} = {1, 2}.

e Actions available at states:
A(Defective valve) = A(1) = {repair, discard},
A(Processed valve) = A(2) = {end}.

e Transition probabilities (p € (0, 1]):

Py (repair) = 1 — p, Py (discard) = 0, Py (end) =0,
P12(repair) =D, P12 (discard) = 1, P22 (end) = 1,
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Figure 4: Transition graph representing the model for optimization. The values in the braces
denote action, transition probability corresponding to this action and reward corresponding
to this action respectively.

where Pjj(repair) denotes the transition probability from the state 1 (defective valve)
to the same state 1 (defective valve) if action “repair” is chosen and the other symbols
have analogous meaning.

e Rewards (C > ¢ > 0):
For decision periods 1,2..., K:

r(1, repair, 1) = —c, r(1, discard, 1) = 0, r(2,end, 1) =0,
r(1,repair,2) = —c + C, r(1, discard, 2) = —C, r(2,end, 2) = 0,

where r(1, repair, 1) denotes the reward received when the process is in state 1 (defective
valve), action “repair” is chosen and the next state is again state 1 (i.e., the repair was
not successful). The other symbols have analogous meaning.

The expected reward corresponding to the certain state ¢ and chosen action a is (ac-
cording to the equation r(i,a) = > r(i,a,j)P;j(a).),
JES

r(1, repair) = —c + pC, r(1,discard) = —C, r(2,end) = 0.

Rewards received during the last decision epoch (K + 1) in each of the states of process:

e Decision criterion:
The expected total reward criterion (the initial state is the state 1, ¢ € W is the policy,
X (n) represents the state of the valve at the nth decision epoch and a(n) represents
the action chosen at the nth decision epoch, n =1,2,..., K +1)

K
Vicr1(1,9) = E}, (ZT(X(H),G(H)) +r(X(K + 1))) -
n=1

The optimal strategy can be found by using the backward induction algorithm ([12]).
Since the both the state space and the action space are finite, it is not necessary to evaluate



the algorithm for all possible histories of the process but only for all possible current states of
the process, which significantly reduces the computational effort ([12]).

Therefore, the backward induction can be computed from the set of equations given by
(forn=1,2,..., K and for all i, € S)

Vi(in) = max < r(in,a) + Y Pij(a)Viii(in, a, j)
a€A(in) ies
and the recursion starts with (for all ixy; € 5)
Vicy1(iny1) = r(ix 1)

Application of the backward recursion ([12]) to the optimization model introduced above
gives:

e n=K+1:
Vi1(1) =r(1) = =C,
Vk+1(2)=7r(2)=0
e n=K:
V(1) = max C2p—1)—c,—C},
o {repair, discard}{ ( ) J
Vk(2) =0.

If the process is in state 1 (the valve is still defective) at decision period K, it is optimal
to repair the valve if and only if

C
C(2p—1)—c>—0<:>p>%,

if p< %, it is optimal to discard this valve and if p = % either action is optimal.
If p> 55, Vk(1) = C(2p — 1) — ¢, otherwise Vi (1) = —C.
en=K-—1:
V(1) = max {O(=2p* +4p—1) —c(2—p), —C},
{repair, discard}
Vik-1(2) = 0.

If the process is in state 1 (the valve is still defective) at decision period K — 1, it is
optimal to repair the valve if and only if

C(—2p2+4p—1)—c(2—p)>—C'<:>p>%,

if p < 55, it is optimal to discard this valve and if p = 55 either action is optimal.
If p> 5%, Vik1(1) = C(—2p? + 4p — 1) — ¢(2 — p), otherwise Vg _1(1) = —C.



e n=K-—k:

k+1 1—(1- p)kH
Vik_r(1) = max cl-2(1-p)")—c———F—,—C»,
{repair, discard}

Vic_n(2) = 0.

If the process is in state 1 (the valve is still defective) at decision period K — k, it is
optimal to repair the valve if and only if

1—(1— k+1
—c%>—c<:>p>

Cc
C1—2(1-p)*+) ; =

if p < 55, it is optimal to discard this valve and if p = 55 either action is optimal.

If p> o, Vieor(1) = C(1—2(1 — p)it) — D0 otherwise Vie_y(1) = ~C.

Vi (1) max {0(1 ~ (1 - p)k) —cl_(l_mK,—c},

B {repair, discard} P
Vi(2) =0.

It is optimal to repair the defective valve (which did not pass the first test) if and only

if
1-(1-pX c
c » >—C<:>p>20,

if p < 57, it is optimal to discard this valve and if p = 55 either action is optimal.

C(1-2(1-pF)-

Ifp>s55, Vi(l) =C(1—2(1 - p)¥) - c#, otherwise Vi(1) = —C.

It clearly follows from the backward induction performed above that if p > 57, it is
optimal to use the maximal number of possible repairs K to achieve the maximal expected
total reward, otherwise it is better to discard the defective valve without any repair. Let us
suppose, that p > 55 and let us further consider this stationary deterministic policy of using
maximal number of possible successive repairs.

The value of the expected total reward under this policy represented by Vi(1) can be

rewritten to the form 00O
H=-pf () ol
p p

Vi(1) can be viewed as the function of variable K with parameters ¢, C and p. Since p > 55
and 1 >1— 55 > 1—p >0, it is obvious, that V;(1) is in the variable K increasing function.

V1(1) represents the expected total reward from the defective valve, which can be repaired
maximally K times. By the same reasoning as in the definition of the optimization model,
the valve can pass the first initial test with the probability p and it can be defective with
the complementary probability 1—p. Let us denote R(K) the expected reward from a processed



valve (which can pass the initial test), if the maximal number of possible successive repairs is
K (¢,C and p are parameters of this function). It follows, that

RUK)=pC + (1= () = (=0 (2D ) po—e(20)

Since p > 5 and 1 > 1 — 55 > 1 —p >0, it is obvious, that R(K) is also in the variable
K increasing function, i.e., the expected reward from a valve increases with the increasing
number of possible successive repairs. The limit of the expected reward from one processed
valve (considering as a function of K) is

1—
lim R(K)=C—c (p> . 2)
K—o0 p

If no repair is allowed, i.e., K = 0, the expected reward is R(0) = C(2p — 1). This value
is nonnegative for p > %, negative otherwise.

If % > p > 55, the important question is how many repairs is necessary to obtain the pos-
itive expected reward, i.e., for which K is R(K') > 0. This inequality has solution for p > &

c
+c

(note that % > &%= > 55 because C > c) given by

C+c
(C+c)—c
K > mmoe (pzwfc ) _
In(1 - p) ’

where In(-) denotes the natural logarithm.

That is, for % >p > CL_FC, the number of repairs necessary to obtain positive expected
I ( PCte)—c

For Ciw > p > 55, the expected reward from one processed valve is nonpositive for all
K > 0 and approaches the value given by the limit (2). Since the expected reward from
one processed valve is increasing function in variable K, the increasing number of possible
successive repairs represents reducing the expected loss.

The process of testing and repairing a valve can be viewed as the process consisting of inde-
pendent Bernoulli trials, therefore, for infinite number of possible successive repairs (K = o0),
the number of repairs before repairing the valve has geometric distribution with mean 1-p
(see [7]) and the expected reward from one processed valve with this number of repairs is

C—c (%), which agrees with the value of the limit (2).

The variance of the reward, if the maximal number of possible successive repairs is K, can
be computed as

reward is given by the smallest integer bigger than

K
(C —je)*p(1 — p)Y + (=C — Ke)* (1 — p)K+ — (R(K))? = (3)
=0
(1—p) 2 2 2 2 2.2
:T(K(4CCP —2¢°p) —c¢“p—4Ccp + 4Ccp +4Cp)—|— (4)
1—p  (1—p)E+D
+ 2 p2p - ( pp)2 (c— 2Cp)2. (5)

Note, that the function R(K) defined by (1) represents the expected reward from a pro-
cessed valve not only for p € (55,1] but for all p € (0,1], which can be easily proved by



induction (since the repairing process consist of independent Bernoulli trials). If p € (0, 55],
this function is decreasing and, therefore, as was already computed from the backward in-
duction, the optimal strategy is not to repair the defective valve and the expected reward
from a processed valve under this strategy is R(0) = C(2p — 1), which is negative number for
p € (0,55] and C > ¢ > 0.

The most important results from the analysis performed above are concluded in the fol-
lowing proposition.

Proposition 2.1
If p > 55, then the optimal strategy is to use the mazimal number of possible successive
repairs K. The expected reward from one processed valve R(K) is given by

R(K) = (1 - )<+ (‘pzpc) Lo (1;]’) ,

which is (under the assumption that p > 55 ) increasing function of the maximal number of
possible successive repairs K.

If p < 55, then the optimal strategy is not to repair a defective valve and the expected
reward from one valve is C(2p — 1).

Proof. See analysis performed above. O

On the basis of the results from the optimization model and from the analysis of the behav-
ior of the expected reward, the Markov chain model (|13] and [14]) describing the processing
of valves at the checkpoint can be proposed.

Since in the case of 0 < p < 5, the optimal strategy is not to repair and the processing
of valves is straightforward, therefore, it is supposed from this point further that 1 > p > 55
and one valve can be repaired maximally K times.

The states of the proposed Markov chain and transition probabilities between these states
are:

e (0 — Preprocessing:
This state represents that the valve is taken from the production line and the initial
functionality test is performed. If the valve passes the initial test, which happens with
the probability p, the next state of the valve will be the state “Functional valve”, oth-
erwise the next state will be the state “Ist repair” (in which the transition occurs with
the complementary probability 1 — p).

e 1 — 1Ist repair:
The valve in this state is repaired for the first time. The functionality test is performed
after the repair and in case of successful repair, which happens with the probability p,
the next state of the valve will be the state “Functional valve”, otherwise the next state
will be the state “2nd repair” (in which the transition occurs with the complementary
probability 1 — p).

e 2 — 2nd repair:
The valve in this state is repaired for the second time. The functionality test is performed
after the repair and in case of successful repair, which happens with the probability p,
the next state of the valve will be the state “Functional valve”, otherwise the next state



will be the state “3rd repair” (in which the transition occurs with the complementary
probability 1 — p).

e K — Kth repair:
The valve in this state is repaired for the Kth time. The functionality test is performed
after the repair and in case of successful repair, which happens with the probability p,
the next state of the valve will be the state “Functional valve”, otherwise the valve will
be discarded and the next state is the state “Reject” (in which the transition occurs with
the complementary probability 1 — p).

e K +1 - Reject:
This state represents the discarding of the defective valve (which can consist, for ex-
ample, from disassembling or simple from scrapping), that was not repaired during
the K possible repairs. After the discarding of the defective valve, a new valve enters
to the checkpoint and, therefore, the next state is with probability 1 the state “Prepro-
cessing”.

e K + 2 — Functional valve:
This state represents the functional valve, which is send to the further processing on
the production line (for example additional assembling or packing). After that, a new
valve enters the production line checkpoint and, therefore, the next state is with proba-
bility 1 the state “Preprocessing”.

The transition matrix (with dimensions (K + 3) x (K + 3)) for this Markov chain is given
by (the states are numbered by nonnegative integers as indicated above)

0 1—p 0 0 o --- 0 »p
0 0 1-p 0 o .- 0 D
0 0 0 1-p 0 --- 0 p
P=: : : D : : (6)
0 0 0 0 0O -+ 1—p p
1 0 0 0 o .- 0 0
|1 0 0 0 o --- 0 0]

and the transition diagram of this Markov chain can be seen in the figure 5.

This model is a generalization of the model proposed in ([10]), which is at the same time
adapted according to the optimization results.

It is obvious, that the proposed Markov chain is irreducible and aperiodic and since
the state space is finite ([14]), the limiting probabilities m; = nl;ngo Pi(;”) exist ([13]). The lim-
iting probabilities 7;’s also represent the long-run proportion of time that the process will be
in state j. They can be computed directly as the unique solution of the set of linear equations

€S

€S

10



Figure 5: Transition graph representing the processing of one valve. The values at arrows
represent the transition probabilities

Furthermore, it holds that
mj = 9)

where v;; represents the expected number of transitions until a Markov chain, starting in
a state j, returns to that state.
The computed limiting probabilities are

o p(1—p)
opH 1 (1 p)H
p(1—(1—p)"th
p+1—(1-pHitt

fori=0,1,....,K+1

TK+2 =

Since the mean number of transitions which a valve has to absolve is vgy = 7%0 (according
to the equation (9)), it is possible to compute the expected number of repairs as vgyp — 2 (two
transitions are subtracted since each valve has to be in the preprocessing state and each valve

will be either discarded or rejected). Therefore, the expected number of repairs is

1;1’(1—(1—19)1‘). (10)

The variance of the number of repairs can be computed as
X ; (1- 2
> (1 —p)y + K2(1—p)FH — TR 1-(1-p*) =
j=0

- p12 (L=p—p(1=p)" QK +1) - (1-p)**?). (11)

It is possible to redefine the states K + 1 (Reject) and K + 2 (Functional valve) as the ab-
sorbing states, i.e., the transitions occur only to the same state (if the process enter an ab-
sorbing state, it will never leave this state). Then the other states are transient states and

11



the transition matrix can be partitioned to the submatrices which corresponds to the matrices
representing transitions inside the transient classes or inside the recurrent classes and among
these classes. The matrix F, which represents the transition matrix for the reccurent classes,
is the identity matrix with the dimensions 2 x 2 and the matrix U, which represents the tran-
sition matrix among the transient classes, is the matrix with the dimensions (K +1) x (K 4 1)
and with all entries equal to zero except the entries on the upper diagonal, which are equal
to 1 — p. The matrix Y, which represents the transition matrix from transient states to the
recurrent states, is the matrix with the dimensions (K +1) x 2 with all rows equal to the vector
[0, p] except the last row, which is equal to the vector [1 — p,p]. The following matrices can
be used for the computation of the expected time spent in the transient states and in the
probability of absorption in the recurrent states (|9], [5]):

1 1-p (1-p?* -~ (1—p~
T L
0 0 0 1
and
(1-p)&t (11— -p~th
I—U1t.¥ = (1-p% (1-01-p)

l-p p

For the purposes of the modeling a production line checkpoint, the first row of these
matrices is important. The values in the first row of the matrix [I—U]~! represent the expected
number of time periods, that the processed valve spends in the corresponding transient state
and since the value in the first column of this first row is equal to 1, the entries in the other
columns of the first row also represent the probabilities, that the valve ever makes a transition
into that transient states. The first value in the first row of the matrix [I —U]~!-Y represents
the probability, that the processed valve will be discarded and the other value in this row
represent the probability, that the processed valve will be functional.

Now, the irreducible model will be again considered and the role of the transition times
can be introduced. For further computations, it is necessary to specify the expected amount
of time spent in some state during each visit given the next state of the process 7;;, and
the concrete form of the time distribution need not to be considered ([13], [5]). It follows
from the description of the process, that the expected time spent in a state does not depend
on the next state of the process. Moreover, the expected time of repair does not depend on
the number of previous repairs. Therefore, the matrix of 7;;’s is

[0 7 0O 0 O --- 0 7p
O 0 7w O O --- 0 7Tp
0O 0 0 72 0 --- 0 7R
o o o 0 0 .-+ 7 TR
7 0 0 0 0 --- 0 O
7= 0 0 0 O --- 0 0]

where 7p denotes the expected time of the preprocessing of a valve, Tp denotes the expected
time of one repair (the time of the functionality test is included), 7p denotes the expected

12



time of discarding defective valve and 7 denotes the expected time of further processing of
a functional valve at the production line checkpoint.
Let u; denote the expected amount of time spent in state ¢ during each visit. From
the nature of the process and from the equation p; = > Pyn;; ([13]), it follows, that
jes

Mo = TP,
W =71r, fori=1,2... K,
HK+1 = TD,
HEK+2 = TF.
The limiting distribution is already computed and also other necessary conditions are
fulfilled ([13]), therefore, the limiting probabilities P;’s, which also represent the (long-run)

proportions of time, that the semi-Markov process is in state j € S, and the mean recurrence
times p;;’s, can be computed with use of the equations

KisT = ZTW% (12)

1€S
Tl _ M
p, = =22 =17 13
’ D Tili ) 13
€S

The mean recurrence times are given by

1—

1 T
Wi = i <(1—p)K+1 <7'D—7'F—;) +7p+ 7P+

(1—p)i pTR),forizo,l,...,K+1,
—-D

1 K+1 TR L-p
UK4+2 K42 = ——= ( (1 —D) TD—TF— — | +7Tp+7F+ " | .
1—(1—p)ftt ( p p

The very important quantity is the expected time of processing a valve, i.e., the expected
length of the cycle at the production line checkpoint, which is given by the mean recurrence

time to the state “Preprocessing” and its value is

TR
poo = (1 —p)~H <7'D_7'F—p> +7p +TF + pTR (14)

=P 1;p (1= =p")mr+1 ="+ (1 -1 -pH) e

This result represents the fact, that each valve has to be in the preprocessing state, the ex-
pected number of repairs is 1;% (1 - (1- p)K ) and the valve will be functional at the end
of the process with the probability 1 — (1 — p)%*+! and it will be defective with the comple-
mentary probability (1 — p)®+1. The pgo can be considered as the function of the number of
possible repairs K with parameters p, ¢, C, 7p, Tr, Tp and 7r. Note, that pgg is always positive
and also note, that if 7p — 77 — Z& > 0, the expected length of the cycle is decreasing with
the increasing number of possible successive repairs. This can correspond to the case, when
the discarded valve is disassembled at the checkpoint, which can last much more time than
the other operations. Therefore, each additional repair decreases the probability of this situa-
tion and the expected time of processing valve is decreasing function of the maximal number
of possible successive repairs in this case.

13



Another important quantity is the expected time between two discarded valves which is
given by the mean recurrence time to the state “Reject” and the result is

TR+11< IR e > (15)
MK+1,K+1 =TD —TF — — TP TTF TR | -
p  (1—pHi+t p

The time of processing of a valve which will not be functional at the end of process is
7p + K7r 4+ 7p and it happens with the probability (1 — p)K F1. Therefore, the expected time
of processing a valve, which will be functional at the end of process is given by the expression
poo — (1 = p)*(rp + K7r + D).

The most important quantity is the expected average reward per time unit. Since the pro-
cessing of valves at the production line checkpoint is the regenerative process ([13]) (the
processing of one valve is the cycle of this regenerative process), the expected average reward
per time unit can be computed as the ratio of the expected reward per one cycle and the ex-
pected length of one cycle (the conditions for this computation are obviously fulfilled ([13])).
The expected average reward per time unit can be viewed as the function of number of possi-
ble successive repairs K with the parameters p, ¢, C,7p,7r, 7p and 7. It will be denoted as
AR(K) and it is defined by

R(K)
oo

AR(K) =

(1= p)Rrt (=22 10— e (152)

(1 —p)E+l (TD —TF — %) —i—Tp—i-TF—i-lP%pTR

(16)

The behavior of the AR(K) is very important for the overall performance of the production
line checkpoint. The expected average reward per time unit can be written in the form

K+1
U v+ w
ARK) = ——+——
( ) UK+11‘+y
where
uzl_pa
_c—2pC
p )
1—
w=C-—c p7
b
TR
r=Tp —TF — —,
b
1-p

y=7p+7TF + TR.

The important question is, whether the AR(K) is monotone, increasing or decreasing in
the variable K. This can be seen from the difference between two successive values of AR(K):

uEH (u — 1) (vy — w)
(uB+22 + y)(uEH e +y)

AR(K +1) — AR(K) = (17)

14



Since there is the product of two positive values in the denominator of (17), u — 1 < 0
and u > 0, the behavior of the AR(K) is determined by the value of vy — wz. The AR(K)
is increasing for vy — wx < 0 and the best strategy is to use the maximal number of possible
successive repairs. If vy — wz > 0, the AR(K) is decreasing with the increasing number of
possible successive repairs and if vy — wa = 0, the AR(K) is constant. In both of these cases,
the best strategy is to discard all defective valves without any repair (the advantage of this
strategy for constant AR(K) is that more valves is processed during the work shift).

The value of vy — wx is given by

C(Tp—i-TD)—CTR
p

vy —wx = C(2TR — 27p — Tp — TF) + ¢(TF — Tp) +

and for the concrete values of parameters, it can be determined, whether the AR(K) is in-
creasing or nonincreasing.

The positivity or the negativity of the expected average reward AR(K) is given by the be-
havior of R(K), which was already examined.

The most important results from this analysis are summarized in the following proposition.

Proposition 2.2
The expected time of processing a valve in the proposed model is given by

1-p

TR
,uoo=(1—1D)KJr1 (TD—TF—p> +7p+7TF + TR-

The ezpected average reward per time unit (as a function of the maximal number of possible
successive repairs) is given by

(1= p)Rrt (=22 40— e (152)

(1 —p)E+l (TD —TF — %) —i—Tp—i-TF—i-lP%pTR

AR(K) =

The expected average reward per time unit is increasing for

c(tp+71p) — C1R
p

< 0.

C(QTR—QTP—TD—TF)+C(TF—TD)+

In that case, the optimal strategy is to use the mazximal number of possible successive repairs,
otherwise, it is optimal not to repair a defective valve.

Proof. See analysis performed above. O

The checkpoint is the part of the whole production line. The arrivals of valves can be
modeled by a Poisson process with parameter A, and, therefore, the checkpoint can be viewed
as the M/G/1 queueing system (see [1]). The first moment of the service distribution is
given by oo, i.e., E(B) = poo. To avoid infinite queue, it is necessary to fulfill the condition
AE (B) < 1. From this inequality, it is possible to compute the maximal number of possible
successive repairs. Also the optimization results must be adapted in some cases.

o If Tp—7F — %R > 0, then it must hold that 1 — A, (TP +7F + %TR> > 0 (otherwise

the production line will be blocked) and since the expected time of processing one valve
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is decreasing function in variable K, the minimal number of possible successive repairs
which prevents from the blocking of production line is given by

In (1)\a (TP+TF+1TPPTR)>
K> mlo ) )

In(1 —p)

(18)

If1— X, (TP + 71 + 1%’7’3) > 0 and if the expected average reward per time unit is

increasing, the optimal strategy is to repair the valve till it is functional. If the ex-
pected average reward per time unit is nonincreasing function of the number of possible
successive repairs, then it is necessary to make the minimal number of the possible suc-
cessive repairs given by (18) to avoid the blocking of the production line checkpoint but
the design of the process is obviously ineffective in this case.

o If TD—TF—%R < 0, then for 1—X\, <TP + 7 + %TR> > 0, the production line will not be

blocked for any number of possible successive repairs. For 1—\, <TP +T1F + %TR> < 0,

the maximal number of possible successive repairs is given by (since the expected time
of processing one valve is increasing function in variable K)

()
K < N 1.

In(1 —p)

(19)

If the expected average reward per time unit is increasing, the optimal strategy is to
use the maximal number of possible successive repairs or to repair the valve till it is

functional (for 1 — )\, (TP + 71+ %TR) > 0, but in this case the design of the process

is obviously ineffective), otherwise, the optimal strategy is not to repair a defective valve.

o If7p—7p— %R = 0, then the expected time of processing one valve does not depend on
the number of possible repairs and it must hold that 1 — A, (TP + 7 + %TR) > 0 to
avoid blocking the production line.

If this condition is fulfilled, then the expected average reward per time unit is increasing
(since it is supposed that 1 > p > %) and the optimal strategy is to repair the valve
till it is functional (but the design of the process is ineffective).

The second moment of the service time can be computed as

K

pY (P +jmR+7r) (L= pY + (rp + K7p + 7p)* (1 — p)**' =
=0

=(1- p)KH(TD —1r)2mp+ 71D+ 7F) + (TP + TF)2 +

+ 27R < p(Tp+TF)(1— (1—p)K)—l—(l—p)KHK(TD—i-TF)) +

2
.
+p—§((1—p)K+1(p—2pK—2)+p2—3p+2). (20)
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With use of the first and second moment of the service time, it is possible to compute
the variance of the service time and also the other quantities which characterize the queueing
system ([1]). The average amount of time, that a valve spends waiting in queue Wy is given
by

AE (B?)
- 2(1-M\E(B))

the average number of valves waiting in queue Lg is given by

Wq (21)

Lo = aaWo = —EE)
@7 e T 91— NE(B))’

the average amount of time that a valve spends in the queueing system W equals to

(22)

2
W—WQ+E(B)—2(1)\iE>\£BI;()B))+E(B), (23)

the average number of valves in the queueing system L is given by

A2E (B?)
L=XW =

= 20 e (Ey T E® (24)

The expected length of idle periods is i, the expected length of busy periods #@B)

and the expected number of customers served during a busy period #E(B). The explicit
formulas for the discussed model are not stated here due to the very complicated forms of
the moments of the service time.

2.0.1 Remarks

Note, that the most of the computed quantities could be computed without use of Markov
and semi-Markov processes theory and Markov decision processes theory, due to the nature of
the proposed model. However, the most of these quantities can be computed in more elegant
way with use of the (semi-)Markov processes theory and Markov decision processes theory,
which would be revealed in more complicated model.

For a general model, in which the transition probabilities among the successive repairs
are different, it is not possible to obtain nice compact general result as for the proposed
model. The general results in suitable form could be obtained in some special cases, e.g.,
when the transition probabilities between successive repairs are values of a suitable function
of the order number of repair and a parameter. Since the modeling of the production line
checkpoint is the finite horizon problem with finite number of states, the results can be always
obtained numerically for concrete values of parameters.

3 Appropriate distributions for modeling transition times

Important task for the proper modeling of the processes at a production line checkpoint
is the choice of suitable distributions describing the transition times among the states of
the process. The choice of the distributions should be based on the real data observed from
the process. Unfortunately, the real data were not available, therefore, it was necessary to
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determine the appropriate distributions from the nature of the process and from the known
results for similar processes.

Operations performed at each state last some average time but because of human factor,
there can be some deviations from this average time which can prolong or shorten the process-
ing of a valve in each state. Due to the nature of the process, there exists some minimal time
for which the process stays in the same state and also unexpected or unusual events can occur
which, on the contrary, can significantly prolong the processing time. Therefore, the distri-
butions with the positive skewness should be expected. In similar processes, the Weibull and
the log-normal distributions are mostly used, therefore, the most important properties of these
distributions relevant for the modeling of a production line checkpoint are described in this
section. This section is based on (|6]), where it is possible to find more detailed description of
the mentioned distributions.

The basic estimate of the distribution of the data can be done with use of the histograms
and probability plots, the appropriateness of the choice of a distribution for the real data can be
verified by statistical tests, for example, by the Kolmogorov-Smirnov test or by the Anderson-
Darling test. More information about the goodness of fit tests can be found in ([8]).

3.1 Weibull distribution

The Weibull distribution is one of the most commonly used distributions for modeling time
to repair due its versatility. The Weibull distribution is very flexible and can, through an ap-
propriate choice of parameters, be used for modeling of many types of processes.

The Weibull probability density function is given by

fo) = { ) e (- (5)7) @
0 T <7,

where S > 0 is the shape parameter, 8 > 0 is the scale parameter and v € R is the location
parameter.
The corresponding distribution function is

F(x) = { L= exp (_ (%)% >

0 xz < 7.

The shape parameter 3 gives the Weibull distribution its flexibility. The Weibull distribu-
tion can model a wide variety of data simply by changing the values of the shape parameter.
For 8 = 1, the Weibull distribution is identical to the exponential distribution, if 8 = 2,
the Weibull distribution is identical to the Rayleigh distribution. For g between 3 and 4,
the Weibull distribution approximates the normal distribution. The Weibull distribution can
also approximate the log-normal distribution. The flexibility of the Weibull distribution is
illustrated by the figure 6 (the scale and the location parameters are fixed, # = 1 and v = 0).

The scale parameter 6 determines the range of the distribution. Increasing the value of
0 while holding other parameters constant has the effect of stretching out the probability
density function and the “peak” of the probability density function decreases (because of
the normalization condition).

The location parameter v locates the distribution along the z-axis. Changing of the value
of this parameter will cause “sliding” of the distribution along the z-axis.
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Weibull distribution
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Figure 6: The influence of the shape parameter § of the Weibull distribution, other parameters
remain constant

The mean and the variance of the Weibull distribution are given by

oo ) e win=e(o(3)- (1))

oo
where I'(u) = [ t“~!exp(—t)dt denotes the gamma function.
0

Let us suppose, that n realizations x1,...,z, of the random variable with the Weibull
distribution were observed. The most usual situation is v known, which is also the case of
modeling a production line checkpoint. Then the maximum likelihood estimators B and 6 of
parameters [ and 6, respectively, satisfy the equations

n -1

S (a7 — )7 In(z; — ) .
> (n(ai =) | (25)
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The value of 3 needs to be obtained from the equation (25) and then used in the equa-
tion (26) to obtain a.

The maximum likelihood estimators for the case when -y is also unknown and, therefore, it
must be also estimated, can be found in ([6]), where also the other properties of the Weibull
distribution are summarized.

3.2 Log-normal distribution

Another commonly used distribution for modeling time to repair is the log-normal distribution.
The probability density function of log-normal distribution is given by

1 (In(z—r)—p)*
0

z < K,

where ¢ > 0 is the shape parameter, i € R is the scale parameter and x € R is the location
parameter (7 denotes the Ludolph’s Constant in this context). If a random variable X is
log-normally distributed with parameters p, o and &, then In(X — k) of this random variable
is normally distributed with mean g and variance o2.

The corresponding distribution function is

202

x
O O _ (n(u—r)—p)?
Fla)={ = 27r{u_ﬁexp( >du x> K,

0 Tz < K.

The shape of the log-normal distribution depends on the shape parameter . The log-
normal distribution is skewed to the right and the skewness increases as the value of ¢ increases,
as can be seen in the figure 7 (the other parameters remain constant, 1 = 0 and x = 0).

Increasing values of the location parameter p while holding the other parameters constant
has the effect of stretching out the probability density function and the “peak” of the proba-
bility density function decreases (because of the normalization condition).

The location parameter x represents the shift of the whole distribution along the x-axis.

The mean and variance of the log-normal distribution are given by

— o’ _ 2 2
E(x) =exp <u + 2) + £, Var(z)=exp (2u + 0?) (exp(c”) — 1).

Let us suppose, that n realizations x4, ..., z, of the random variable with the log-normal
distribution were observed. The most usual situation is ¥ known, which is also the case of
modeling a production line checkpoint. Then the maximum likelihood estimators f and & of
parameters u and o, respectively, are given by

1 n
= — l P
p=_ ;1 n(z; — K)

n

> (In(a; — k) — )2

i=1

. 1
o=,|—
n

The maximum likelihood estimators for the case when & is also unknown and, therefore, it
must be also estimated, can be found in (|6]), where also the other properties of the log-normal
distribution are summarized.
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Log—normal distribution
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Figure 7: The influence of the shape parameter o of the log-normal distribution, other pa-
rameters remain constant

4 Results for real data

The model which was proposed and analyzed in the previous sections was motivated by the real
data from the real production line checkpoint. As was already mentioned, no data about
the processing times were available, only the data about the number of repairs of one valve
could be used.

The main task is to estimate the probability of passing the functionality test p. Data
contained information about 500 processed valves. On the real production line, each valve is
repaired to the full functionality and no valve is discarded. One valve was maximally repaired
8 times in the available data set. The number of repairs which one valve absolved till the full
functionality is summarized in the following table:

Number of repairs 0 1 2 3 4 5 6 7
Number of valves || 301 | 120 | 48 15 9 4 2 0 1

Based on these results and from the nature of the repairing process, the probability of
passing the functionality test can be estimated from the relative frequencies of transitions
from a certain state (“Preprocessing” or one of the successive repairs) to the state “Functional
valve”. These relative frequencies are summarized in the following table (state “Preprocessing”
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is denoted as 0, the other states are labeled by the number of repairs which a valve has already
absolved and the estimate of the probability of the passing the functionality test is denoted

as p):

State 0 1 2 3 4 5 6 7 8
D 0.602 | 0.603 | 0.607 | 0.484 | 0.500 | 0.571 | 0.667 | 0.000 | 1.000

As can be seen from the previous table, the estimates of the probability of passing the func-
tionality test p are almost the same from the states “Preprocessing”, “lst repair” and “2nd
repair’, which confirms the assumption that the most of defects is caused by the defective
gasket which is, therefore, replaced during repair and the new gasket may be defective with
the same probability as the original gasket. The estimates of p for higher order of repairs
are not very accurate because there was not enough data (the most of defective valves is al-
ready processed). The inaccuracy can be also caused by the more complicated defects and
unexpected situations.

This processing of a valve can be viewed as the series of the Bernoulli trials, therefore,
the probability of passing the functionality test p may be estimated with use of the maximum
likelihood estimator (which eliminates the influence of lack of data for the higher orders of
repairs) from the values summarized in the first table. The estimated value is

p = 0.597.

As already mentioned, no data about the processing times nor about the rate of the incom-
ing valves were available. For the purposes of illustration of the theoretical results, the mean
processing times in particular states and the rate of the incoming valves were estimated by
the expert on the basis of results from similar processes. These estimated values are (in
minutes and for A, in number of incoming valves per one minute)

7p=0.75, Tr=15, 7p=05, T =05, X,=045. (27)

The value of valve C and the cost of repair ¢ were also unknown, therefore, for the pur-
poses of illustration of the theoretical results were chosen values (the concrete currency is not
important)

C =80, c=30.

All necessary parameters for the analysis and modeling of the processes at the production
line checkpoint are set up.

Since C(2tgp — 27p — 7p — 7F) + c(7F — TD) + W = —98.191, the expected
reward per time unit AR(K) is increasing function in K and the optimal strategy is to use
the maximal number of possible successive repairs.

Since Tp —TE — T}? = —2.513and 1-X, (TP +71F + 1?7’3) = —0.018, the maximal number
of possible successive repairs K which prevent the blocking of the production line checkpoint
is defined by the inequality (19), which states that K < 3.546 and, therefore, the value of K
is (after the rounding down)

K =3.

This maximal number of possible successive repairs will be considered in further analysis.

The expected number of repairs defined by the equation (10) is 0.631 and the variance
of the number of repairs defined by the equation (11) is 0.819. The probability of discarding
a valve is 0.026.
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The expected reward from one valve is according to the equation (1)
R(3) = 56.854

and the variance of the reward from one valve is 1994.884 (according to the equation (3)).
The expected time of processing one valve given by the equation (14) is

too = E (B) = 2.196 minutes

and the second moment of the time of processing a valve given by the equation (20) is 6.905,
which determines the variance of the time of processing one valve as 2.081. This implies, that
during one hour is processed 60 : 2.196 = 27.322 valves. The expected time between two
discarded valves given by the equation (15) is 83.266 minutes.

The proportions of time that the process is in particular states P;’s are

Py=0.341, P, =0.275, PFP,=0.111, P3=0.045, P,=0.006, PF5=0.222.
The expected reward per minute AR(3) is (according to the equation (16))
AR(3) = 25.886.

The behavior of the expected reward per time unit for the various number of maximal
possible successive repairs and with the values of other parameters defined above can be seen
in the figure 8.

The production line checkpoint may be also analyzed with use of the results from the queue-
ing theory. The fraction of time that the checkpoint is working (which is equal to the proba-
bility that there is a valve at the checkpoint) can be computed from the equation p = \,E (B)
and the result is p = 0.988. The average number of valves in the queueing system (i.e., in
the queue and at the checkpoint) given by the equation (24) is L = 60.898 and the average
number of valves in the queue given by the equation (22) is

Lg = 59.910.

The average number of valves in the queue Lg can be used for the determining of the size of
the container for unprocessed valves.

Each valve will spend (according to the equation (23)) on average 135.329 minutes in
the queueing system and the average time which a valve spends in the queue is (according to
the equation (21))

Wg = 133.133 minutes.

The expected length of busy periods of the production line checkpoint is 188.206 minutes
during which 85.693 valves will be processed on average. The expected length of idle periods
at the production line checkpoint is 2.222 minutes.
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Figure 8: The expected reward per time unit AR(K) as a function of maximal number of
possible successive repairs K. The values of parameters are p = 0.597, 7p = 0.75, 7p = 1.5,
0 = 0.5, 77 = 0.5, C' = 80 and ¢ = 30. The maximal number of possible successive repairs
which will not block the production line for A\, = 0.45 is marked by the vertical red line,
the limiting value is marked by the horizontal dashed green line.
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